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Question 1
Question Type: MultipleChoice

The Cisco Data Center captures the intent of users and applications. Which is not a benefit?

Options: 
A- Enhance IT operations

B- Seamless multicloud mobility

C- Enhanced application performance

D- Pervasive security

Answer: 
A

Explanation: 
https://cdw-prod.adobecqms.net/content/dam/cdw/on-domain-cdw/brands/cisco/intent-based-data-center.pdf

https://cdw-prod.adobecqms.net/content/dam/cdw/on-domain-cdw/brands/cisco/intent-based-data-center.pdf


Question 2
Question Type: MultipleChoice

In the Cisco DNA 8 framework, which is not a component of the enterprise controller?

Options: 
A- Automation

B- Analytics

C- Avoidance

D- Assurance

Answer: 
C

Explanation: 
https://www.cisco.com/c/dam/en/us/solutions/collateral/enterprise-networks/solution-overview-c22-738468.pdf

https://www.cisco.com/c/dam/en/us/solutions/collateral/enterprise-networks/solution-overview-c22-738468.pdf


Question 3
Question Type: MultipleChoice

Networks are more complex than ever and devices are proliferating by the minute. It's harder to see what's on the network, and it's

harder to spot a threat. Cisco's Network Visibility and Enforcement solution combines which of the following?

Options: 
A- Cisco Stealthwatch Enterprise, the Cisco Identity Services Engine, and Cisco TrustSec technology

B- Cisco Enforcement Enterprise, the Cisco Identity Services Engine, and Cisco TrustSec technology

C- Cisco Stealthwatch Enterprise, the Cisco Identity Services Engine, and Cisco wireless technology

D- Cisco Stealthwatch Enterprise, the Cisco Ideas Engine, and Cisco TrustSec technology

Answer: 
A

Explanation: 
https://www.cisco.com/c/en_ca/products/security/network-visibility-enforcement/index.html

https://www.cisco.com/c/en_ca/products/security/network-visibility-enforcement/index.html


Question 4
Question Type: MultipleChoice

A business capability consists of which of the following to enable the long-term strategy of the business?

Options: 
A- Security, enablement, experience

B- Technology, expertise, process

C- People, tools, experience

D- People, process and technology

Answer: 
D

Explanation: 
https://www.ciscolive.com/c/dam/r/ciscolive/us/docs/2018/pdf/BRKCRT-2902.pdf

https://www.ciscolive.com/c/dam/r/ciscolive/us/docs/2018/pdf/BRKCRT-2902.pdf


Question 5
Question Type: MultipleChoice

A variety of factors drive the target state of the business. Which of the following is not a factor?

Options: 
A- Values

B- Mission

C- Vision

D- Client engagement

Answer: 
D

Question 6



Question Type: MultipleChoice

Customers are investing in uncompromised security of which 3 areas?

Options: 
A- WAN, Cloud, Mobility

B- Cloud, Mobility and LAN

C- DC, Access and WAN

D- WAN, LAN, Cloud

Answer: 
A

Explanation: 
https://www.cisco.com/c/dam/en/us/products/collateral/software/one-software/one-overview-deck.pdf

https://www.cisco.com/c/dam/en/us/products/collateral/software/one-software/one-overview-deck.pdf
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